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e types of symbiosis are parasitism, mutualism, and commensalism.
et reading each example, circle the type of symbiosis described
Jpoint) and explain how each organism is hurt, helped, or not affected
p the relationship (2 points).

| African tick birds can often be found sitting on the backs of large
grazing animals such as Cape buffalo. The tick birds eat bloodsucking
acks found on the skin of the large animals. What type of symbiosis
is shown by the tick birds and the Cape buffalo?

a parasitism

b mutualism

¢ commensalism

Explain

A male golden weaver bird builds a hanging nest made of grass and
straw high on the branches of a thorny acacia tree. The tree is not
affected by the nest. What type of symbiosis is shown by the weaver
bird and the acacia tree?

a parasitism
b mutualism
¢ commensalism

Explain
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3 Aphids are tiny bugs that live on plants. They excrete a sugary liquid
called honeydew from their abdomens. Ants find the honeydew
both nutritious and delicious. Some kinds of ants protect herds of
aphids from predators such as ladybugs. When danger threatens, the
ants carry the aphids to safety on their backs or in their mouths!
When the ants want to feed, they tickle the aphids into producing
honeydew. What type of symbiosis is shown by the ants and the
aphids?

a parasitism
b mutualism
¢ commensalism

Explain

4 Tapeworms are long flatworms that live in the guts of animals,
including humans. Tapeworms absorb nutrients through their skin.
They stretch out their narrow bodies to reach the right kind of food,
food that has been broken down by the host’s digestive system. They
dig their heads into the gut wall to avoid being swept away. Humans
can lose many nutrients when infected by tapeworms, leading to
disorders of the blood, brain, and nerves. What type of symbiosis is
shown by the tapeworms and the humans?

a parasitism
b mutualism

¢ commensalism

Explain
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5 Flower mites are tiny animals that feed on the nectar and pollen
of certain plants. They rely on hummingbirds to carry them from
plant to plant. When a hummingbird stops to feed at a flower, the
tiny mites run up the bird’s beak and climb into its nostrils. The
hummingbird doesn’t even know the mites are there. When the
hummingbird stops at the right kind of flower, the mites sense the
flower’s perfume and run back down the beak and into the flower.
What type of symbiosis is shown by the mites and the hummingbird?

a parasitism
b mutualism

¢ commensalism

Explain

6 Some wasps lay their eggs inside living caterpillars. When the eggs
hatch, the wasp larvae use their chewing mouthparts to feed on the
bodies of the caterpillars. What type of symbiosis is shown by the
wasps and the caterpillars?

a parasitism
b mutualism
¢ commensalism

Explain
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7. Choose one of the organisms described in questions 1 through 6,
and identify one of the structural adaptations the organism uses to
survive within its symbiotic relationship (1 point). Then explain how
the adaptation helps it survive (1 point).

For example, in question 6, the wasp larvac have chewing mouthparts.
This is a structural adaptation that helps them get food from the bodies
of the caterpillars.

8. Now choose one of the organisms described in questions 1 through |
6, and identify one of the behavioral adaptations the organism uses o |
survive within its symbiotic relationship (1 point). Then explain how |
the adaptation helps it survive (1 point). |
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